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PART - III
o uiflweo / BIOLOGY

( SO whmb <piidle el / Tamil & English Version )

ST Sferey : 3.00 wanfl Gpyw | o [ Qs wHIALETSET : 70
~ Time Allowed : 3.00 Hours ] - " _ [Maximum Marks : 70

AMeyenrast : (1) Sievanss edamés@Ephd sflwrs udeundl o earsm eramLgeaear gfluTT& 816

Instructions :

Qamarerayd. @FaiILSeNd Gpulmiter Smns sansranfliumeril b
o Langwnas Qsflelldsa)id. g |

Boon  <dwgy smUy oodoa  LLECL  dWIHUFDEGD
< &GsTy QeughEh LLaTu@Ss Ceauam(ibd. UL MSH uamrausnE
Cuenfléd LwaTLHSSeLD. |

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately. _

Use Blue or Black ink to write and underline and pencil to draw

diagrams.

@y : ugSl-1 (2.uif-graureiud), LEGE-II (&uﬁ]ﬂ-aﬂm@aﬁ]@sﬁ) sailgseal allenLgsrafled
aflenLwafl&&eL. -

Note :

Candidate should answer Part-I (Bio-Bbtany) & Part-II (Bio-Zoology) in separate

~answer-books.

UGS - I (Lusm-g,nsumﬂms{)) / PART - I (BIO-BOTANY)

(&iCluermaer : 35) / (Marks : 35)
9fle] - 1/SECTION - 1

@mlay :

SIS &I (@ (LD eflenwefl&sayib. | 8x1=8
(ii) Ger@ssuu@erer wrHn el salle Wsayb ehLemLw eflen_anwig

Coipbls®sss P AL el lamand Cargg T(PSELD.
Note : (i) Answer all the. questions.

(i) Choose the most appropriate answer. from the given four alternatives
and write the option code and the corresponding answer.
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1. DNA -eeu mGanil giawmig d@idliib :

(1) GAATTC (<) AGGQTT (@) TATAGC () GTATATC
EcoRI cleaves DNA at :

(a) GAATTC (b)  AGGGTT () TATAGC (d) GTATATC

2. Quur@gefldley (Pedogenesis) TG eTHEL 6 QFTLILenL WG ?

(1) 2lfs Qprevs (<) Qgrergyuifl LigeuLd
(@) wer () Bt
Pedogenesis refers to :
(a) Population (b) Fossils
(c) Soil (d) Water
3. QuaGrenm Syrammigev eremLg - GHbusdar sraurLd.

(<=1) gleCrrarrCudél (<) CaliGWEl

(@) ndCené ' (F) GuGué
Tectona grandis is coming under the family :
(a) Dipterocaipaceae (b) Lamiaceae
(c) Ebenaceae (d) Fabaceae

4. ar(Hser c@u@éa;ﬂu@g,eb aarubeug)
(21) GoTRsalld GUET(HLD STEUTRIGET WHMID LOFEIEET
(<) sTHEMDY LGS sHaile) uaThd STOUTRSET DHMID LOFEISET
(©) sreupmseT WHMID WIBGET q%aﬂu_lm,ﬁ)gmm DSHMFD
(F) sr@ser SPHS LGS salld eUaTHID FTEUFHISGET LOHMID LOFEISET
Deforestation means :
(a) growing plants and trees in a pond.
(b) growing plants and trees in an area where there is no forest.

(c) removal of plants and trees.

(d) growing plants and trees in an area where the forest is removed.
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adflguid YGrmewn® ahs Qsmflapugpepude Lwetu®SsLuBEng) ?
(=) urdwGren smiesOsmTeleer
(%) sgier @PRIQWELY Asmfdp U
(@) =sCrrad Qupw Wareamd 9ALIL
() Qeushiienr @OMGWELIL @gn@é)gjl'_u@sm;p
In which techniques Ethidium Bromide is used ?

(a) Polymerised Chain Reaction

(b) Southern Blotting Techﬁiques

(c) Agarose Gel Electrophoresis

(d) Western Blotting Techniques

ap(heilenss sraurmsaiies e Coll Las srairddlear s QFa :
(1) 2 L@ () mietr afi5g)

(&) wsofloa spapemds () Qu@eilss

The first cell of male gametophyte in angiosperm is :

(a) Nucleus (b) Microspore

(¢) Primary Endosperm Nucleus (d) Megaspore

@rIGHEDL Wwansselar aldgorag) |

(=)9:3:4 (=4,)9:3:3:1 (@) 9:6:1 (FF) 1_2:3;1 

The Dominant Epistasis ratio is :
(a) 9:3:4 (b) 9:3:3:1 (c) 9:6:1 (d 12:3:1

[ Hmlys / Turn over
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8..

cran i LGS

RCr 188 graurmsErsHaoLGL sty Qsleug
(<=1) @Gy TESSDGET el <) é]m!ﬁ]mréja;@é;eﬂml_(ﬁm~aswﬂu
(8) CufemieEnsfean G saLiLy (i) TERSERES @er G el

Crosses between the plants of the same variety are called

(a) intravarietal (b) interspecific

(c) intergeneric (d) intervarietal

19fley - 2 / SECTION - 2 -
SenLweNdsayLd.

GOy : Epsaranid clamsseils gCsamD BIENE CNMMMEEEHEE 4x2=8

Notg :

9.

10.

11.

12.

Answer any four of the following questions.
Quoarel G, s 9 ebadl Greisrmrreﬁ Grees ?

What is Mellitophily ?

ﬁg&aﬂ(ﬁunml_@\ @g,rn_rraﬂﬂemguﬂem @amﬂ HMmID 2 6TeTrs Siewhs LrepGum

‘aLerevL i WealianLd giamgss erhs CpThlamerd LwerLhggieuml ?

What are the enzymes you can use to cut terminal end and 1ntemal phosphodiester

bond of nucleotide sequence ?

i Cams o1 evell erempimed ereven ? '

What is myrmecophily ?

Sipsaam eflouThiGmeTs Qsraw® @ Arlll euerhgl g THE CUMEMIEF
FTTHSGI GTE eT(PSIS. |
2 ud M erisafler craenlEems QaTR&sLILL_(ararg - LB - 50, STeurriger - 1000,
(pwied O eredl - 250 +250, LML LHMiLD @mrrrm 100 + 50.

Draw a pyramid from following details and name the type of pyramid.

Quantities of organisms are given Hawks-50, Plants-1000, Rabbit and Mouse
250+250. Pythons and Lizard 100+ 50 respectively.
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13. waw euatdms Gobupdgeude pamauidfl o L Csgisfadr ereuaumm LwamGEamer ?

How are microbial inoculants used to increase the soil fertility ?

14. Qupens Geuatramenioulen euaTL®D®WS &(ms.

Give definitions for organic farming.

\9fey - 3 / SECTION - 3

Golly : Spssremid elammssaile gCseb epern elamésEnsE el waflEse,wb.
cflenm eTa 19-8(g SLLMWIONS eflenL_wafléaayib. 3x3=9

Note : Answer any three of the following questiqns Q.No. 19 is compulsory.

15. LSl gglen uanflaaners L gwel(Hs.

List out the functions of tapetum.

16. saumgsorsly Qur@maru®b whH o @urr.@@mm'r‘&,g,rrg; sRHoTHNGIHDS

Qe Cuwresr Ceaumuim(® eretman ?

What is the difference between missense and nonsense mutation ?

17. pBR 322 ereib eumigengulladlmbg Helli iblbg Gamarelg) eremer ?
What do you know about the word pBR 322 ? |

18. smiuen saurliu(se wpmib Cssflgse (CCS) eranmme erever ?

What is CCS ?

19. yed eumflib wpmid Cewed eumflib - CoumuBss)s.

Distinguish habitat and niche.

A [ SlpLiys / Turn over
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Wfley - 4 7 SECTION - 4

uy . . - _ 2x5=
@gs! 4 SEDEMGH ) ‘*\(’]“T“"\‘ﬁ«%@b&@ln eflent_wieflamsma)id. 10

Note : i .
te : Answer all the questions,

20. (=) s@ayprs safl L edflanar Qe 5. i (pduggiaid LD GHUY
Cargs.

S|6V6V5)
(=) e Qupr RRGSSHEND LOMLD @)EHenT GMhIESSCTN DL CaumuB515.
(a) Give a detailed account on parthenocarpy, add a note on its significance.

OR

(b) Differentiate incomplete dominance and co-dominance.

21. (&) greurggla euemmiben LWGTUMHEEMET 6T (LG5,
S|6V605)
(=) ﬁgwmu Qufr@t;ﬁaﬂécr 2irger, 278l wWreneu ? Sjeunien Lwensenar TS5,

(a) Write the applications of plant tissue culture.

OR

(b) What are the King and Queen of spices ? Write their uses,
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UGS - 11 (o 1N-efleoriudled) / PART - II (BIO-ZOOLOGY)
(wHuCluessigen : 35) / (Marks : 35)
Nfley - 1 / SECTION - 1
Gy = (i) NS Aands@Ens@d oflan_welssab. 8x1=8
(1) Qer@sstiuc Parer wrpm NeoLsalld Bsab ghLyemLL oL amiis
CoibAsOdms NI Ler elo uleamanb Csibs GT(LPSELD.
Note : () Answer all the questions.

(if) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. &1g RNA ppaésam er(g)smgpuﬂa) &@surra;a;uu@\eﬂmgﬂ ?

(=) ps@TESD <) @rligliurgd
(&) Guomfl Auwigsed | (rr) L QS5
A mRNA molecule is produced by : '
(a) Duplication . (b) Replication

(c) Transla'tion ' (d) Transcription

2. assCerrevGurfler -A eramm (Bprrwg,g,@uurrmg;su @@5@ WGBS 6T 6 (HhHs
2 Hugs Cewuiu@deamg ?

(=) Quaflfledilwd QBrCLLLLD () Sevurgeesy enpe
(@) genyCarGLiwm LreSlavGUmyid (rr) wanmevsen LT flwe
Cyclosporin-A is an immunosuppressive drﬁg produced from :

(a) Penicillium notatum (b) Aspergillus niger

(c) Trichoderma polysporum (d) Manascus purpureus

3. ahgs sreb ‘Warseflar sraw’ aar smpsstiu@dng ?

(=1) 4 Gouraflwan (<) Quirdlwerr
(@) <rGLreddlwen () weorwrés
W Which period was called as “Age of fishes” ? '
(a) Devonian' (b) Permian
(c) Ordovician (d) Triassic
A . : » [ Hmuys / ’I‘u.rn over
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4'

eﬂmn‘ﬂmmm@mrﬂmdmu GuinC.lg. GIFarons mpu@emg;l

(=) Carhare, QUL e, (r%) o ufferr LoenMa|
(@) e (Hulf QITLDE 60 ;ﬂl@ﬂ' LDW!DLULD
Competition between species 10;1;1% to !

(@) Amensalism (b) Extinction

(€)  Symbiosis (d) Mutation

UmL SmfleNania 10s6s@ewwran LrIL&E55E o erammd) SIPuDd Hlepaude
e arer afeoiidanh TGl ? /

(=) Qmeurpeadr (<)) LTI g ST
(&) v Csralser (FF) UMeneUSET
Which one of the following are at high risk extinction due to habitat destruction ?
() Amphibians (b) Mammals
(c) Echinoderms (d), Birds

Sp&samL Thg UmsCarhp shsd QupCoriseflar wry euamswrar 14 10x1A 1B
s@Eh&EeL Cu 19nss srgdlwidldener ?

(1) A (<) AB (@) B () O

Which of the following phenotypes is not p0331b1e in the progeny of the parental
genotypic combination I8 IO xIA IB 2

(a) A (b) AB (c) B (d O

urelloCren srhidled allena Qauliublensy Lorrgjurrl_L_rra) 3 saflgseah frgm@a;gﬂm
Qg,m_rrélammgj SiHer cuflens :
21) Gevemiy Genpustii(BEgsD, 2 Hussl, @uey Sy
(c&zb) Guey gy, Gy Gepusiubssised, 2 Husd
(@) Quéy iy, 2 pusdl, Qe Qapusiiudssisd
(m) epusd, Goariy GoPusiuEssss, @uay S
PCR proceeds in three distinct steps governed bj temperature, they are in order
of : \
(a) Annealing, Synthesis, Denaturation
(b) Denaturation, Annealing, Synthesis
(c) Denaturation, Synthcsis, Annealing

(d) Synthesis, Annealing, Denaturation
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8. ©8Iibs aflpg Qsdser GraNasiL@L @t :
(=) epss Gue FMHET GLped
(&) efbgitew

() cllipgs BT Gasar
() ez prerd

The matured sperms are stored in the |
- (a) Epididymis (b) Seminiferous tubules

(c) Seminal vesicle (d) Vas deferens

9fey - 2 / SECTION - 2
@gShqu : a@g,@Lb .'B"‘G%T@ clflenmé s (@péE 1L HID aS]em.merﬂéaesme. : 4%x2=8
Noté :  Answer any four of the following quesﬁons.
9. sanall @eriCLmESLD c;ré'mmrreb crenan ? THSHESTLH S([HS.

What is parthenogenesis ? Give example.

10. QuTLen&S ST Grampmed creman ?

What is surrogacy ?

11. @gﬁ]uﬁﬁ.@ @mg@uﬂ]aﬂ@;j@ UMTLILY(T @mgmm Gaumu(p5815.

Differentiate template strand from coding strand.

12, erorisdler QuprulL uarys Cariurlyamer geuGpar Bl 9586 Wi ?
srebeumy BlepAssmT ?

. Who disproved Lamarck’s theory of acquired characters ? How ?

[ Smliys / Turn over
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13. wrevardsra Gprules M GHaemar STpEI

Write the symptoms of filariasis,

14. wiugy Hddems erenmired eTeven 7

What does gene therapy mean ?

19fley - 3 / SECTION - 3
5&6LD.

©OIY : Spdsrand demssald gGseb epenm eAaTEEEHEG eflen_wafl b
3x3=

Sem erawT 19-8(5 SLLMULONS eflen_weaf&saLd.

Note : Answer any three of the following questions. Q.No. 19 is 'compulsory.

15. smalareae wpmb fesCsraa Caumubhsss.

Differentiate foeticide from infanticide.

16. swseLsriy GETU aarug des wrHpPLULL SHLSTUY FOBSOTGD -
Bumutin(sgs. :

Autoimmune disease is a misdirected immunity response. Justify.

17. 2.9 erdiiQummer erdliiugdmen erublumpg) 2 (HeUT&mg ?

When does antibiotic resistance develop ?

18. Qouy aspas Wiy eigsdd@bs Camubses.
Differentiate Natality from Mortality.

XY @GrmGonGanD elens Lime Hliemudgaaila e e wlflsdr em X @GrmGonGemeniowb

19.
Quair 2W@fger Gram® X &CrrGurGembsmenyh Caram@arerar. Liraansdnes
@en_Cuwrer @b Herai Caupur_ e 2 Wiland eriing. Fl Qeldpg ?
In the XY chromosomal system of sex determination, males have only one X’
chromosome, whereas females have two. How does the organism compensate for
this dosage differences between the sexes ?

A
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S1fley - 4 / SECTION - 4
GOluy : Werau(hio mﬂmné;g,@é;@ eflenL_wefldsme,Lb. oA

Note:  Answer the following questions,

20. (=) waily ASTL Qsdeller iewlianLil) LLggLen efeufgsay.
_ AT
(<) wafls wrugy S ghHar AprGuaysed i
() Explain the structure of Human Ovum with a neat labelled diagram.

OR

(b) Write the salient features of Human Genome Project.

21. (&) @Lb%bc‘gmlr@@mmsﬁ]sh,@{mmﬁmu EGDHS LILQ’;@JLG&T efland g
| {6060 |
(<) sdHAwsss s flay Cuararaw Ghlss s (e camys.
(a) Explain the structure of immunoglobulin with suitable diagram.

OR

(b) Write an essay on radioactive waste management.

-000-
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